PhFoFIS

REERR

%ﬁﬁﬁﬁﬁi@%ﬂﬁ%/\? l\"o &Einﬁnt:—j_"f>79'rjoo

QEXMEFRMEICEN, EORAEIHESEDEMICL) BETIMHILLEEHLSTFIET, it
O EIE L DM b #IEB0C F COENREICIHEA LIV, A\ EE
@125AL1 b I3, (FE8E) TR B
@3> FAHEIZSUSA308Y, (125A10 F 15480 £
O@FH & I38kE, =
— ~
A10149 | Fv7SGR 11
E@ SGPEH.
‘ mBEI—F A10149 Fv7SGRZ 1t B4 (mm)
vy . . HEENE ARV b BRIV A%
a— | PR | HOR | g t1C lexgx [P H | & |
0015 SG- 15 Vs 21.7 06| 25 | M 6X20 | 26 64 | W% 250
0020 SG- 20 % 27.2 06| 25 | M 6X20 | 26 67 | W% 250
. 0034 SG- 25 1 34.0 06| 25 | M6X20 | 26 70 | W% 200
0049 SG- 32 1% 42.7 08| 25 | M 8x25 26 74 W 150
=] 0053 SG- 40 1% 48.6 08| 25 | M 8x25 26 77 W 120
- 0068 SG- 50 2 60.5 08| 25 | M 8x25 | 26 83| W% 100
- | 0072 |SG- 65| 2% 763 | 10|32 | M8x25 | 26 | 98| W% | 100
T 0087 SG- 80 3 89.1 1.0 32 | M 8x25 | 26 | 105 | W% 80
IS TR — i 0091 [SG-100| 4 1143 | 1.0 32 | M 8x25 | 26 | 117 | W% | 60
77J{ [ 0104 SG-125 5 139.8 32| 32 | M1I0X30 | 36 |145| W' 30
' } 0119 SG-150 6 165.2 32| 32 | M10X30 | 36 | 157 | W' 30
= IS
A10151 | Fy7CUR & 14
HEER,
mBEI—-K A10151 Fvy7CUR % 1+ BT (mm)
¥4 Voo | BEEHE PrYTINY RN AR
J-f | TR | BB T t1C Maxgs | P H | & |
0013 CU- 8 Va 9.52 06| 25 | M 6X20 | 26 58 | W% 400
0028 CU- 10 % 12.70 06| 25 | M 6X20 | 26 5 | W% 400
0032 CU- 15 Vs 15.88 06| 25 | M 6X20 | 26 61 W% 350
0047 CU- 19 % 19.05 06| 25 | M 6X20 | 26 63| W% 250
0051 CU- 20 % 22.22 06| 25 | M 6X20 | 26 64| W3% 250
0066 5 7o R 25.40 06| 25 | M 6X20 | 26 66 | W% 250
0085 CU- 25 1 28.58 06| 25 | M 6X20 | 26 67| W?3% 250
0090 CU- 32 1% 34.92 06| 25 | M 6X20 | 26 71 W% 170
0102 CU- 40 1% 41.28 06| 25 | M 6X20 | 26 74| W% 150
L[] 0117 CU- 50 2 53.98 06| 25 | M 6X20 | 26 80| W% 120
| |
& i= . s 0121 CU- 65 2% 66.68 08| 25 | M 8x25 | 26 86| W% 150
wRET77@ } J{ } 0136 CU- 80 32 79.38 08| 25 | M 8x25 | 26 92 Ws/z 130
0155 CU-100 4 104.78 08| 25 | M 8%x25 | 26 | 105| W% 80
0160 CU-125 5, 130.18 32| 32 | M10X30 | 36 | 140 | W' 30
0174 CU-150 6 155.58 32| 32 | MI0X30 | 36 | 152 | WX 30
= S
A10154 | Fy7SUm & 14
27 L AERE (SUTILOE) A,
@mFEI—KN A10154 Fv7Sum4 1t BT ()
H4 = oo | BEEHE PTTETINY RN AR
-k B4 X | FURE (su) t (o] BXE& D H 2 A
0015 SuU- 13 Vs 15.88 06| 25 | M6X20 | 26 61 W% 350
0020 SU- 20 % 22.22 06| 25 | M6X20 | 26 64 | W% 250
0034 SU- 25 1 28.58 06| 25 | M6X20 | 26 67| W% 250
0049 SU- 30 (1) 34.0 06| 25 | M 6X20 26 70| W% 170
0053 SU- 40 1% 42.7 08| 25 | M 8x25 | 26 74| W% 150
0068 SU- 50 1% 48.6 08| 25 | M 8x25 | 26 771 W% 120
0072 SU- 60 2 60.5 08| 25 | M 8x25 | 26 83| W% 100
X 0087 SU- 75 2% 76.3 1.0 32 | M 8X25 | 26 98| W3% 100
= ] e ]
" - U- 4 114, 1. M 8X25 117 | W%
J)L—
HiRE L d 0176 SU-125 5 139.8 3.2 | 32 | M10xX30 | 36 | 145| W' 30
0195 SU-150 6 165.2 3.2 | 32 | M10X30 | 36 | 157 | W' 30

z Gt




